LAB 1-11

DIVISION

OBJECTIVE

To use the DIV command to perform unsigned division in Assembly language programs

REFERENCES

Mazidi, Volumes I & II: Chapter 3, Section 3.2

MATERIALS

80x86 IBM (or compatible) computer

DEBUG program     

MASM (or compatible) assembler

ACTIVITY 1

Fill in the table for Worksheet question 1 by executing the indicated instructions in DEBUG and observing the results.

ACTIVITY 2

Write, run, verify, and analyze the results of a program that finds the highest, the lowest, and the average grade of a class of 18 students.  Use your own data.

ACTIVITY 3

Write, run, and verify a program that finds the highest, the lowest, and the average monthly paycheck of a salesperson for 12 months of the year.

ACTIVITY 4

Using the data from Lab 1-10 Activity 3, find the total price for each category and then find the lowest and highest total category price. In addition, find the average total price of all 7 categories.

WORKSHEET QUESTIONS

1. Fill in the following table by coding and executing the indicated instructions in DEBUG and observing the results. For example, for the first instruction, execute the following, then observe the results.

  MOV AL,64

  MOV BL,46

  DIV BL

 For the Result column, indicate the register(s) which hold the result as well as what the result is. 

Operation
Destination
Register 2 


Result
 


DIV BL

AL=64H
BL=46H

DIV BL

AL=FFH
BL=1

DIV BX
AX=1234H
BX=1DF3H

DIV CH
AL=0

CH=1

DIV CX
AX=F934H
CX=F000H

DIV BX
AX=1234H
BX=1234H


2. For Activity 2, dump the data segment before and after running the program, make a print‑out of it, then circle the final result in the data segment.

3. For Activity 3, dump the data segment before and after running the program, make a print‑out of it, then circle the final result in the data segment.

4. State a case where the "divide error" message would be displayed.  Test your answer using DEBUG.

5. True or False.  Byte/byte operations are really word/byte operations.  Explain your answer.

6. State a major limitation of the DIV operation in 80x86 machines.
